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Paired T-Test and CI: S1, S1 SAB

Paired T for S1 - S1 SAB

                  N      Mean     StDev   SE Mean

S1                5    0.0000    0.0000    0.0000

S1 SAB            5    0.0733    0.0904    0.0404

Difference        5   -0.0733    0.0904    0.0404

95% CI for mean difference: (-0.1856, 0.0389)

T-Test of mean difference = 0 (vs not = 0): T-Value = -1.81  P-Value = 0.144

Paired T-Test and CI: S2, S2 SAB

Paired T for S2 - S2 SAB

                  N      Mean     StDev   SE Mean

S2                5    0.0000    0.0000    0.0000

S2 SAB            5    0.0200    0.0447    0.0200

Difference        5   -0.0200    0.0447    0.0200

95% CI for mean difference: (-0.0755, 0.0355)

T-Test of mean difference = 0 (vs not = 0): T-Value = -1.00  P-Value = 0.374

Paired T-Test and CI: S3, S3 SAB

Paired T for S3 - S3 SAB

                  N      Mean     StDev   SE Mean

S3                5    0.0483    0.0830    0.0371

S3 SAB            5    0.0417    0.0433    0.0194

Difference        5    0.0067    0.1129    0.0505

95% CI for mean difference: (-0.1336, 0.1469)

T-Test of mean difference = 0 (vs not = 0): T-Value = 0.13  P-Value = 0.901

Paired T-Test and CI: S4, S4 SAB

Paired T for S4 - S4 SAB

                  N      Mean     StDev   SE Mean

S4                5    0.0133    0.0217    0.0097

S4 SAB            5    0.0433    0.0454    0.0203

Difference        5   -0.0300    0.0292    0.0131

95% CI for mean difference: (-0.0663, 0.0063)

T-Test of mean difference = 0 (vs not = 0): T-Value = -2.30  P-Value = 0.083

Paired T-Test and CI: S5, S5 SAB

Paired T for S5 - S5 SAB

                  N      Mean     StDev   SE Mean

S5                5  0.000000  0.000000  0.000000

S5 SAB            5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S6, S6 SAB

Paired T for S6 - S6 SAB

                  N      Mean     StDev   SE Mean

S6                5  0.000000  0.000000  0.000000

S6 SAB            5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S7, S7 SAB

Paired T for S7 - S7 SAB

                  N      Mean     StDev   SE Mean

S7                5    0.0000    0.0000    0.0000

S7 SAB            5    0.0100    0.0224    0.0100

Difference        5   -0.0100    0.0224    0.0100

95% CI for mean difference: (-0.0378, 0.0178)

T-Test of mean difference = 0 (vs not = 0): T-Value = -1.00  P-Value = 0.374

Paired T-Test and CI: S8, S8 SAB

Paired T for S8 - S8 SAB

                  N      Mean     StDev   SE Mean

S8                5   0.00667   0.01491   0.00667

S8 SAB            5   0.00000   0.00000   0.00000

Difference        5   0.00667   0.01491   0.00667

95% CI for mean difference: (-0.01184, 0.02518)

T-Test of mean difference = 0 (vs not = 0): T-Value = 1.00  P-Value = 0.374

Paired T-Test and CI: S9, S9 SAB

Paired T for S9 - S9 SAB

                  N      Mean     StDev   SE Mean

S9                5  0.000000  0.000000  0.000000

S9 SAB            5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S10, S10 SAB

Paired T for S10 - S10 SAB

                  N      Mean     StDev   SE Mean

S10               5  0.000000  0.000000  0.000000

S10 SAB           5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S11, S11 SAB

Paired T for S11 - S11 SAB

                  N      Mean     StDev   SE Mean

S11               5    0.0517    0.0418    0.0187

S11 SAB           5    0.0033    0.0046    0.0020

Difference        5    0.0483    0.0427    0.0191

95% CI for mean difference: (-0.0046, 0.1013)

T-Test of mean difference = 0 (vs not = 0): T-Value = 2.53  P-Value = 0.064

Paired T-Test and CI: S12, S12 SAB

Paired T for S12 - S12 SAB

                  N      Mean     StDev   SE Mean

S12               5   0.00333   0.00745   0.00333

S12 SAB           5   0.00000   0.00000   0.00000

Difference        5   0.00333   0.00745   0.00333

95% CI for mean difference: (-0.00592, 0.01259)

T-Test of mean difference = 0 (vs not = 0): T-Value = 1.00  P-Value = 0.374

Paired T-Test and CI: S13, S13 SAB

Paired T for S13 - S13 SAB

                  N      Mean     StDev   SE Mean

S13               5   0.00667   0.01491   0.00667

S13 SAB           5   0.00833   0.01443   0.00645

Difference        5  -0.00167   0.02075   0.00928

95% CI for mean difference: (-0.02743, 0.02410)

T-Test of mean difference = 0 (vs not = 0): T-Value = -0.18  P-Value = 0.866

Paired T-Test and CI: S14, S14 SAB

Paired T for S14 - S14 SAB

                  N      Mean     StDev   SE Mean

S14               5   0.00333   0.00745   0.00333

S14 SAB           5   0.00000   0.00000   0.00000

Difference        5   0.00333   0.00745   0.00333

95% CI for mean difference: (-0.00592, 0.01259)

T-Test of mean difference = 0 (vs not = 0): T-Value = 1.00  P-Value = 0.374

Paired T-Test and CI: S15, S15 SAB

Paired T for S15 - S15 SAB

                  N      Mean     StDev   SE Mean

S15               5  0.000000  0.000000  0.000000

S15 SAB           5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S16, S16 SAB

Paired T for S16 - S16 SAB

                  N      Mean     StDev   SE Mean

S16               5  0.000000  0.000000  0.000000

S16 SAB           5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S17, S17 SAB

Paired T for S17 - S17 SAB

                  N      Mean     StDev   SE Mean

S17               5  0.000000  0.000000  0.000000

S17 SAB           5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

Paired T-Test and CI: S18, S18 SAB

Paired T for S18 - S18 SAB

                  N      Mean     StDev   SE Mean

S18               5   0.00167   0.00373   0.00167

S18 SAB           5   0.00000   0.00000   0.00000

Difference        5   0.00167   0.00373   0.00167

95% CI for mean difference: (-0.00296, 0.00629)

T-Test of mean difference = 0 (vs not = 0): T-Value = 1.00  P-Value = 0.374

Paired T-Test and CI: S19, S19 SAB

Paired T for S19 - S19 SAB

                  N      Mean     StDev   SE Mean

S19               5   0.00167   0.00373   0.00167

S19 SAB           5   0.00000   0.00000   0.00000

Difference        5   0.00167   0.00373   0.00167

95% CI for mean difference: (-0.00296, 0.00629)

T-Test of mean difference = 0 (vs not = 0): T-Value = 1.00  P-Value = 0.374

Paired T-Test and CI: S20, S20 SAB

Paired T for S20 - S20 SAB

                  N      Mean     StDev   SE Mean

S20               5  0.000000  0.000000  0.000000

S20 SAB           5  0.000000  0.000000  0.000000

Difference        5  0.000000  0.000000  0.000000

95% CI for mean difference: (0.000000, 0.000000)

T-Test of mean difference = 0 (vs not = 0): T-Value =    *  P-Value =     *

